The way "relative"” delay --
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Much less confusing...
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_75 r 0220527 4 (1/C_res) @ DARM UGF: 3.3524 [deg] = 158.6 [usec] = 2.598 [16k ccs]
0210423 4 (1/C_res) @ DARM UGF: -4.5165 [deg] = -184.4 [usec] = -3.021 [16k ccs]
_90 [ 0220527 A A_res @ DARM UGF: -5.2849 [deg] = -250.0 [usec] = -4.096 [16k ccs]
05 [P20210423 £ A_res @ DARM UGF: -6.8308 [deg] = -278.8 [usec] = -4.568 [16k ccs]
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-- was calculcated in old pydarm
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0210423 £ (1/C_res) - A(1/A_res)
1 0220527 A (1/C_res) - A(1/A_res) @ DARM UGF -1.9325 [deg] = -91.4 [usec] = -1.498 [16k ccs]
20210423 £(1/C_res) - 4(1/A_res) @ DARM UGF -11.3474 [deg] = -463.2 [usec] = -7.589 [16k ccs]
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... way like LHO:22117
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0210423 A (1/C_res) + A A_res
1 0220527 4(1/C_res) + & A_res @ DARM UGF -1.9325 [deg] = -91.4 [usec] = -1.498 [16k ccs]
20210423 £ (1/C_res) + £ A_res @ DARM UGF -11.3474 [deg] = -463.2 [usec] = -7.589 [16k ccs]
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